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_ -A,.) Let X be a random variable with PMF
L ) BB Sz =—2,-1,0,1,2,3,4
. | 0  otherwise

) (1 "ﬁsmta) Find o and E[X].
) ? Q :":’f'f)ff What is the PMF of the random variable Z = (X — E[X])? ?
int J,)‘ Usmg the result from part (b), find the variance of X.
P DO1 ) hfmd.the variance of X using the formula var(X) = > . (X —E[X])’px(z).
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2. (60 points) A coin that has probability of heads equal to p is tossed successively and

indEpEndently untlnmes twice in a row. Denote
B

X = the number of tosses until the game 1is over

/(2) (30 points) Find E[X);
(b) (30 points) Find var(X).
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